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I.	 ""f)7IJ1'fIDLA.el*J7t¥&:,*ffft8"J~j(~ , {i1J~~~~ ? 

(A). ~~1¥J7H&:4~F11UlE~ T $E:.f::t<I¥J~1f 

(B). ~~~fi'lJPJ~{~1fIJ.. 

(C). ~~~fi'lJPJilllJ~J1fJli7tmJ1f. 

(D). 1*J7t¥&:'~*'IIlJffQ~~~~1i~*.Il~~CP' E!3~1fIJ. 

~~A1fIJ.~'11l1JJ.a~J} 

2. A defining characteristic of allopatric speciation is 

(A). the appearance of new species in the midst of 

old ones.
 

(B). asexually reproducing popuia-ions.
 

(C). geographic isolation.
 

(D). artificial selection.
 

3.	 ""f)7IJ1'fllm~~*I¥J*j(~ , {i1J11!m~~? 

fA)· ~~*cpl¥J~!fo/.J~~flffHW~~*~:fiAE 

(B). mAE~~*cpl¥J~M' lli~$ii0~m-~L$ 

(d). ~r.Wfi¥l¥Jlb!fo/.JfmMtc~~~~~ 

(~. ~~~cp~!fo/.J@I~W@leOO,@I~W~ff~ 

~OO,.~-@Ifl~l¥J~m~*,m~~~ 

* 
4. We would expect the greatest difference in size and 

general appearance between two groups of plants of the 

same species, one group with mycorrhizae and one 

without, in an environment 

(A). where nitrogen-fixing bacteria are abundant.
 

(B). that has soil with poor drainage.
 

(C). that has hot summers and cold winters.
 

(D). in which the soil is relatively deficient in
 

mineral nutrients. 

5.	 ""f)7IJ1'fIlMM~WF1~fI:{~~&JJlI¥J~~ , {i1J~~IE 

liil¥J? 
(A). ,*IWPJ1JO~&JJl~1J{g~PJPJa1I:~&JJlI¥J 

Lp:1tJ#j\t~ 

(B). M~*$7t-1m~E!3Kl~~ffl~jffi*1¥J 

(C). M~{tml¥J~ -'I:1:~j~:M~ffl¥J~ -'[:1: 
(D). PJl:~~ 

6. Which of the following best describes the complete 

sequence of steps occurring during every cycle of PCR? 

(1). The primers hybridize to the target DNA. 

(2). The mixture is heated to a high temperature 

to denature the double stranded target DNA. 

(3). Fresh DNA polymerase is added. 

(4). DNA polymerase extends the primers to 

make a copy of the target DNA. 

(A). 1,3,2,4 

(B). 2,1,4 

(C). 3, 4, 1, 2 

(D). 3,4,2 

7. ""f)7U1'f~:JI:il{tml¥J~~ep , IEUiI¥J~ : 
(A). :YC&JJlZ~-r1W~i&!~' PJT~:fi5(l¥JtJ~:!lPJil~ 

ATP JJ<. NADP 

(B). :JI:~{'F mpJT~:fi5(I¥J~*,,~* ~ =¥dt~epl¥J~ 

J*-r 
(C). '±~I¥J:JI:il{tffl~:ff~~I¥J~~'MJ3.~ 

(D). :JI:il{tm8"Ji&!~7t~:JI:&JJllDB1l&JJlw.i${5.1 

8. How many grams of acetic acid (CzH40z)would you 

use to make 10 L ofa 0.1 M aqueous solution of acetic 

acid? 

(A). 10.0 g 

(B). 0.1 g 

(C). 60.0 g 

(D). 6.0 g 

9. ""f)7U1'fIUlI1J!fo/.Jf.f~l¥J*j(~ , {i1J11!~~~ ?
 
(A). m~m[ti]t!I:JI:..m-{!~Wi=&JJl
 

(B). ~!lil¥J~!li' ji~m~ff,f , H~7t¥&:,{t~!fo/.J~ ,
 
{$~Affi1.~!l!i~!fo/.Jl¥J{.v:TIf 

(C). fJ,~,:ffW]j[A. Wl:l¥J/J\~ , ~iG:!tB~W]j[A. 

1'f7 ~11H1l¥Jj@i~ 

(D). r:1J&~-fm~~:ff*JJ~~l¥J~~fim 

10. Which part ofa plant absorbs most of the water and
 

minerals taken up from the soil?
 

(A). Taproots.
 

(B). root hairs.
 

(C). the thick parts of the roots near the base of the
 

stem. 

(D). storage roots. 
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11. T7U:ffIHl~fl,.~*I¥J~~ , fi=iJ~m~~ ? 
(A). ..Ui;ie1tir~1f~fflG~~JiJl:f:1I¥J~~*Wl 

fJ 
(8). ~~~Q]"~jJ~)'}*~?,~¥U;~Jm 

(C). rE!~~~W-=~1tWit:ff1fm 

(D). ?E!:¥:5&J.!f.W=~1tlif;R:ffmm 

12. Photoautotrophs use 

(A). light as an energy source and CO2 as a carbon 

source. 

(8). light as an energy source and methane as a 

carbon source. 

(C). N2 as an energy source and CO 2 as a carbon 

source. 

(D).	 CO 2 as both an energy source and a carbon 

source. 

13. T7U:ffIHlIIJ~r~l¥JrrE~ , W~m~~? 

(A). j/iJtt&:IIJ!/o/.J-w.ifflUItJ~· ~~*§ ,*Mb~.pfTID 

gIG 

(8). wU}ffgIlJ~-~JM!1f~'~J.1<!k.'E,.fDJ.1<£3:ew.i 

f.ifj;~ 

(C). NiiIDItJ!/o/.J-~fi' mfUJ§!.i~ , ~m~lIJto/J 

(D). ~~IIJ!/o/.J-m1tWllli~' CJ*ElJJj{D.PfT~PX: 

14. Which of the following statements concerning
 

the eukaryotic chromosome isfalse?
 

(A). It is composed of DNA and protein.
 

(8). The nucleosome is the most basic structural
 

subunit. 

(C). The number ofgenes on each chromosome is 

different in different cell types. 

(D). It consists of a single linear molecule of 

double-stranded DNA. 

15. T7U:ffI"!*BlMI¥J~~fi=iJ~iEEl? 

(A). :ff@;;*mM"2i":ff:'ltft, PIP.J(~*m1li1¥J~~e: 

~ffi!fifl~ 

(8). *1HM::f"2i"pg:'ltkM' r.IJ~~ft ' *ffi}ffg~ , m 
"2i~:j.ItI 

(C). J!t~:j.I~*ffimtmllff!H~~B~gIG~ 

(D). PJJ::~~ 

16. To recycle nutrients, the minimum an ecosystem
 

must have is
 

(A). producers, primary consumers, and decomposers.
 

(8). producers and decomposers.
 

(C). producers.
 

(D). producers, primary consumers, secondary
 

consumers, top carnivores, and decomposers 

17. T7UWJJj{~~~glGm1iJf.*mrcr:p~ ~1¥J~~'11 

~~fi=iJ~~m:JEuiH¥] ? 
(A). ffii~'I1' :7I:WEH~:~~:g't1I¥J¥*4H}ffg:@(;f~fl~1¥J 

:fP-*4HJJEl~!/o/.J ' W:fP-*ffi}ffgI¥J:fil~ , ~IiPJ.&IIJ~ 

:ff~~I¥J~~'~~~~::f~I¥J~~r:p 

(8). ~~'I1I¥J¥*ffi}ffg~~,PIm:7l:ir§ !ff:@(;JH~"t1 

I¥J 
(C).•~'11:1¥J~7B'i~~'l£~m~I¥J~~~MPIijE 

~:ff~Wf=§'I1I¥J*ffi)Jfg , PIPJ~'I11JA~M 

(D).	 ffii~'I1I¥J:J'Cl5"§1t~~1t'I1:~~' ~f¥~WJjr~ 

!.i~l:f:1'PI~px:~mttl¥J.JJEl'~M~PI~~ 

~¥ff=§l¥JfulT 

18. A pathogenic fungus invades a plant. What does 

the infected plant produce in response to the attack? 

(A). antisense RNA 

(8). statoliths 

(C). phytoalexins 

(D). thickened cellulose microfibrils in the cell wall 

19. l£~mW~mPJR.*ffiJJ@I¥J!Ji¥®.f'Pmr~~' T7UIl]~~JJi
 

~=~Zr~~~JEI¥J~~.pfTl£ ?
 
(A). .R:ff1£!Ji¥@:1'Pm l:f:1::tPIPJfiEfr~~; Tl1~~$i.
 

1tNADH 

(8). .R:ffl£!Ji¥®.f'Pm r:p NAD+l'1J~:ff$i.1t~JI¥JJiJn~ 

(C). .R:ffl£lllJlll1Zf'Pmr:p ::tPIPJ~ ftmJ~:j.I 

(~. ~M~m~~~~m~~~~I¥J~MmT,m 

!Ji¥@:f'Pm::f~ 

20. Which of the following pairs ofbase sequences 

could form a short stretch of a normal double helix of 

DNA? 

(A). 5'-purine-pyrimidine-purine-pyrimidine-3' with 

3'-purine-pyrimidine-purine-pyrimidine-5' 

(8). 5'-A-G-C-T-3' with 5'-T-C-G-A-3' 

(C). 5'-G-C-G-C-3' with 5'-T-A-T-A-3' 

(D). 5'-A-T-G-C-3' with 5'-G-C-A-T-3' 




